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ction (Q.N. 1-5) Find out the percentage of students, whose
Study the table and answer the following| average marksis more than 60%/ 60% wfaera
questions based on it. | 3rferen 3fTd 3iah atel Bl &t Yfavradar Jrd
The following table gives the percentage of| ary:
marks obtained by 7 students in 5 different () 55 (b) 71.42
subjects in an examination. (The maximum g5 7 d 63- 4
marks in a subject is 100) C(S ' (d) 63.

\

Sub1 | Sub2 | Sub3 | Sub4 | Sub5 1\&/

Student1 40 45 @ 55 65 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 | 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Studenté | 70 | 65 | 68 | 56 | 78

Student? | 65 | 45 | 70 | 52 | 58




ction (O.N. 1-5 Find out the percentage of students, whose
(Q ) average marks is more than 60%/ 60% "fasTa

T a7feres 3faa 3feh arer BT st gfavraar J 9

Study the table and answer the following
questions based on it.

The following table gives the percentage of W \ \
marks obtained by 7 students in 5 different (R) 23 ) FrAc
subjects in an examination. (The maximum (2} 80,7 (50 64 _ 9/
marks in a subject is 100) Ans. (*) : \
fawg-1 |fawz- |fawa-3 (fawa-4 |fawa- @ﬁki‘ffﬂ_l)
Sub1 | Sub2 | Sub3 | Subd | SubS | |l feri a0 is T 15;0 s 1ez
Student! | 40 | 45 @ 55 | 65 | 70 femdi2 |60 |70 |75 |65 |65 |330

| a3 |70 74 |64 68 72 |348 [69.6 |
Student2 60 70 73 65 60 faamit-4  [50 75 |57 65 62 |309 |618
Student3 | 70 | 74 | 64 68 | 72 feemdf-s 61 |66 |72 [S8 |60  [317 |63.4

; fazmdf-6 |70 65 68 56 78 337 |674

Student4 | 50 | 75 | 57 | 65 | 62 a7 |65 45 |70 52 |58 |290 [58
Student5 61 66 | 72 | 58 60 60% T 318F 3iF IId H aral & 39d H AN = 66 + 69.6
‘ | +61.8+634+67.4=3282 —_—
Studenté | 70 | 65 | 68 56 | 78 sfcreTd
| % 28 2
Student? | 65 | 45 70 @ 52 | 58 < 100 { 7438 \

Tﬁ?—@ﬁqﬁ 39 (b) 9T 2|



ction (Q.N. 1-5)

Study the table and answer the following
questions based on it.

The following table gives the percentage of
marks obtained by 7 students in 5 different
subjects in an examination. (The maximum
marks in a subject is 100)

Sub1 | Sub2 | Sub3 | Sub4 | Sub5

Student! | 40 | 45 | 55 | 65 | 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 | 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Studenté | 70 | 65 | 68 | 56 | 78

Student7 65 45 70 52 58

Find out the ratio between the student having
the highest total marks and the student having
the lowest total marks

Aftrehan et 3feh arer feranelf 3t =aw Fed
3ich aret foraneff o dffer ot it T -

(a) 348/275 (b) 309/290
(c) 317/309 (d) 330/290

LY,




ction (Q.N. 1-5)
Study the table and answer the following
questions based on it.
The following table gives the percentage of
marks obtained by 7 students in 5 different
subjects in an examination. (The maximum
marks in a subject is 100)

Sub1 | Sub2 | Sub3 | Sub4 | Sub5

Student! | 40 | 45 | 55 | 65 | 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 | 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Studenté | 70 | 65 | 68 | 56 | 78

Student? | 65 | 45 | 70 | 52 | 58

e

Find out the ratio between the student having
the highest total marks and the student having
the lowest total marks

Afrhaw et 3ieh aret faenef 3iv =AW Fo
aieh et Teremeff & ofter &t airea waT -
) 348/275 (b) 309/290

(c) 317/309 (d) 330/290
Ans. (a) : 3UdH ¥ WA 4,
Aferan 3% ST A A F g siEads )
AT 3% W FA ard e & Fa 3iF =275
348

Wﬂ? ai!qm - %




ction (Q.N. 1-5) Find out the difference between the average

Study the table and answer the following Ts:.ﬁgtsz"?sj:ﬁtz; (Sub 1) and average marks

questions based on it. PreT-1 o fea-2 & o I
The following table gives the percentage of = S

marks obtained by 7 students in S different
subjects in an examination. (The maximum &3-13’) \/ (b) 4.07
marks in a subject is 100) (¢) 3.45 (d) 3.90

Sub1 | Sub2 ' Sub3 | Sub4 | Sub5

Student1 40 45 % 55 65 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 64 | 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

| Studenté | 70 | 65 @ 68 | 56 | 78

Student? 65 45 70 52 58




ction (Q.N. 1-5) Find out the difference between the average
. marks in subject 1 (Sub 1) and average marks
Study the table and answer the following| ;. subject 2 (sub 2).
questions based on it. fow-1 dun fawa-2 & sfraa sfwi @1 ofdw
The following table gives the percentage of | uar =i-
marks obtained by 7 students in S different (a) 3.13 (b) 4.07
subjects in an examination. (The maximum (c) 345 (d) 3.90
marks in a subject is 100) Ams. (c) -
| fawa-1 fasa-2
(: Sub1 iSubZ' Sub3 | Sub4 | Sub5 [E— 40 45
Student1 40 45 55 | 65 70 fasg-2 60 70
Student2 | 60 | 70 | 75 | 65 | 60 fawa-3 70 #
Student3 | 70 | 74 64 | 68 | 72 2 2 i
uaen
; fawa-5 61 66
Student4 | 50 | 75 | 57 | 65 | 62 S——— 70 X( € |65 5
Student5 | 61 | 66 | 72 | 58 | 60 T 6 J=7 330 V =~
‘ : arga 59.42 62.85
Studenté 70 65 68 56 78 — ,
i | & fosa 1 § 3iEa 3i® = 59.42
Student? | 65 | 45 | 70 | 52 | 58 farar 11 ¥ 39t9a 37F = 62.85
: HUE AT = 62.85 - 59.42 =




ction (Q.N. 1-5) In which subject is the overall percentage best?

Study the table and answer the following mﬁw.&wwm ?
questions based on it. (a) Subject 2/f¥3- 2 (b) Subject 3/f¥a- 3 )

The following table gives the percentage of : ) : -
marks obtained by 7 students in 5 different (c) Subject 4/fama- 4 (d) Subject 5/fawa- 5

subjects in an examination. (The maximum
marks in a subject is 100) %

Sub1 | SubZ | Sub3 | Sub4 | Sub5

Student! || 40 | 145 | 55 @ 65 | 70

Student2 | 60 | 170 | 75 | 65 | 60

Student3 | 70 | |74 | 64 @ 68 | 72

Student4 | 50 | |75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Studenté || 70 | 65 @ 68 | 56 | 78

Student7 5 45 70 52 58




ction (Q.N. 1-5) In which subject is the overall ercenta e best?

Study the table and answer the following 'ﬁ?ﬂﬁﬂ'ﬂ'ﬂ'@"ﬂ'uﬁm
questions based on it. (a) Subject 2/fa¥d- 2 (b) Subject 3/%@- 3

The following table gives the percentage of : ) : :
marks obtained by 7 students in 5 different (c) Subject 4/fawa- 4 (d) Subject 5/fawa- s

subjects in an examination. (The maximum

marks in a subject is 100) Aﬁn::q(l;) :gp;r ‘qagw 3;[3@3: Hﬁfﬂﬁmﬁﬁ #WEETF

; gl )_
Sub1 | Sub2 | Sub3 & Sub4 | Sub5 S y

Student! | 40 | 45 | 55 | 65 | 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Student6 | 70 | 65 @ 68 | 56 | 78

Student7 5 45 70 52 58




ction (Q.N. 1-5) Find out the percentage of students having.
more than 60% in every subject.

Study the table and answer the following N re 3 60% & TfE ofe AT Ryl
0

questions based on it.
The following table gives the percentage of ot gferera ¢:

marks obtained by 7 students in 5 different (a) 14.28 (b) 28.57
subjects in an examination. (The maximum (c) 42.85 (d) 30.78

marks in a subject is 100) @

Sub1 | Sub2 ' Sub3 | Sub4 | Sub5

Student1! | 40 | 45 | 55 | 65 | 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 | 68 | 72

Student4 | 50 | 75 | 57 | 65 | 62

Student5 | 61 | 66 | 72 | 58 | 60

Studenté | 70 | 65 | 68 | 56 | 78

Student? | 65 | 45 | 70 | 52 | 58




ction (Q.N. 1-5)
Study the table and answer the following
questions based on it.
The following table gives the percentage of
marks obtained by 7 students in S different
subjects in an examination. (The maximum
marks in a subject is 100)

Sub1 | Sub2 ' Sub3 | Sub4 | Sub5

Student! | 40 | 45 | 55 | 65 | 70

Student2 | 60 | 70 | 75 | 65 | 60

Student3 | 70 | 74 | 64 | 68 | 72

Student4 50 75 | 57 65 62

o—

Student5 | 61 | 66 | 72 | 58 | 60

Studenté | 70 | 65 | 68 | 56 | 78

Student?7 65 45 70 52 58

9

Find out the percentage of students having.
more than 60 %]

IR I GMGGIS
(a) 14.28
(c) 42.85 (d) 30.78
r—\
Ans. (*) : y94-1 & AR b,
H 60% & o 3 T F ad 4348\

Hd A = 2206

348 | J
34y % 1004 15.77%
2206 X U

M- T I 39 I & IW (b) 71 2|

OES




SWAYAM aims to achieve_which of the
following  three cardinal _principles of | (7
education? —
W LARLT. g & fa d7 engm
frgtal @ I & & AT TG 87
(a) Quality, career and skills
TV, Sa-gf 3R B
\/('b) Access, equity and quality
JUTEH, T S o0
(c) Affordability, equality and quality
S TEa, T R
(d) Innovation, collaboration and diversification
TATaR, T R fafa




SWAYAM aims to achieve which of the
following three cardinal principles of
education’

I AR . frgn & fo 9 e
firgial & TTE & T 6 TET
(a) Quality, career and skills
T, Sfa-gf 3R e
(b) Access, equity and quality
U, S 3 T
(c) Affordability, equality and quality
A TEa, T AR
(d) Innovation, collaboration and diversification

AT, WA 3R fafaw

@Wﬁmmmﬁmmw
f F T W R de 3 Ued T R
M TR WEEY 21 W WNdd Afed N S
W 21 T (i AR & B o8- Teeed, §
fRTe 7o BT W TR @ W e 2|

(1) difear amem
(i) T T (ST /Afed ®U)
(ill) @A ol -

(iv) e e —
g o & d o gl wa, aw o e @

19 & F A @ 2




According to the theory of multiple
intelligences, the ability to perceive the visual
and spatial world accurately, pertains to which

human abnh% ve,\’
T wﬁa a«gaﬁ 3 Y 3 A, W

it form T @ Haiferd 37

() Naturalist/Sfd GEIEE;

(b) Interpersonal/3i- GDIE

(c) Intrapersonal/3+:- GpITE

| (d) Spatial e }




According to the theory of multiple
intelligences, the ability to perceive the visual
and spatial world accurately, pertains to which

human ablll%
g & ST Wéia ¥ 3w
T mﬁm E‘@Bﬁ & YW & A, W
&t form T @ v 37
(a) Naturalist/FI?p"ﬁ G 3
(b) Interpersonal 37 Faft
(c) Intrapersonal/ .- GpIE:
(d) Spatial /=

F iy s %

\*vnmﬁwmwﬁaw
7

Ans, (d) :3¢_F1 Ty fgid aae MeR & g fan
w%ﬁwmﬁwaﬁmaﬁrﬁ:@

S 3l 3 98 WIS amERe H 3R o

?qﬁ 1 agfay frgr sifrmed @ @ |
TR & 2

agfay 3 1 yam &t &t 2
'~‘{1)Hfﬁﬂﬁ1?ﬂ'q§ﬁé

f‘l W/ﬂmﬁ

oo

iv) it 3
mm“ﬁﬂﬁi

T Fafs G
% figid & FER T § g9 U4 Wi

JEH & FE F AGA AW & i e g
et 21




Given below are two statements:

Statement I: Identity diffusion occurs when
individuals explore any option or commit to#'

any actions. %
Statement II:  Identity foreclosure is J
commitment without exploration.

In light of the above statements, choose the

most appropriate answer from the options

given below

fFa A Faafauw g :
HAT-1 : T Atk Tt faerew =t wuafva
wﬁ%mﬁﬁfmﬁm@ﬁﬁ

IUITh Sl o 3Telleh W, e fau 7o faewear

H ¥ HaH UG I I od- iU

(a) Both statement I and statement Il are correct
FI9 1 31 11 a1 T8 81

(b) Both statement I and statement II are
incorrect/&H9d [ 3R 11 a1 Tad 2|

(c) Statement I 1s correct but statement II 1s
incorrect/&a 1 &l €, foheg 11 97 Tea 21

() Statement 1 is incorrect but statement II is
correct/HIF 1 Ted 2, g &= 11 Tl 21




Given below are two statements:

Statement I: Identity diffusion occurs when
individuals explore any option or commit to
any actions.

Statement  1I: Identity  foreclosure is
commitment without exploration.

In light of the above statements, choose the
most appropriate answer from the options
given below

fFoSrwmaafauw g :

HAT-1 : T HAf+h ferdl fdehed ol @E-ATNd

wa g ar Tl feramen @ ufaeg 89

arere faawur afea gar 8

HAA-11 : dEET giE=- ey guauur &

feraT gfaagar gt )

IUATh KAl oh ATt o, Hrer fau o faswmeat

H § 9ad IUYTh 3 &l Sa- it

(a) Both statement I and statement Il are correct
F49 1 3 11 4T 91 &)

(b) Both statement 1 and statement II are
incorrect/&99 1 3 11 24T TAd 2|

(c) Statement 1 1s correct but statement II is
incorrect/&a 1 & &, f=g 11 Fo7 ToAqd 21

(d) Statement I is incorrect but statement II is
correct/H9 1 TTad 2, foheg &9 11 Tt 21

(Ans. (d) TR U A B qW A ° o K
B ¢l A & Ih AR, fau 3R fawed @
HUR W 3EER0T 33 i ¥ wefifd & 21 |
e fam foedt oot & fafte wem wifid 9 &
T ) Raft 31 7 e g 0§ @ ) e 2
T | YL F 11 57 ¢

&)




Match list I with list 11 1>‘

List-1 List-I1 - A\/
A. Theory of Moral | I. John Horn h
Development o\
B. Theory of Fluid | Il. Lawrence
intelligence Kohlberg
C. Theory of II1. Erik Erikson
Crystallized
Intelligence
D. Moratorium IV. Raymond Cattell
Teit-1 st Tei-11 ¥ gafera aifag:
-1

IS g+
C. Teliga gﬁa‘)iik 1. 2= sfeas -
fagia
D. SHEUT-FRATH IV. I\UE e

Choose the correct answer fro!n .the options

given below:/9=r fau 7o fa=weat ¥ & E3:1
Q:

(a) A-I1, B-1V, C-1, D-III

(¢) A-1, B-III, C-II, D-TIV
(d) A-III, B-1I, C-TV, D-I




Choose the correct answer from the options
given below:

udt srEwmedar fyad difge fhararaar aer
ITHId TR, AT foh 9 IaumuTHS,
qmIae dAT YA & Gl W
&, HECTT ¢:
(A) Srfraafhatur-faeshr

\ ) Sifegan- sramean

W) ERTATAE - gE T

~ Py = e srEwedar
(E) arfaferaryfierar
Hrar fau o faeedt @ @ WE I @ WA
HITAT:
(a) A, C and E only/&ad A, C 3R E
_(_b,)_B_LandDonly/hﬁB,C\%ﬁ'{ D
(¢) A, B and C only/&aa A, B 3R C
(d) C, D and E only/&dd C, D 3R E

The disability characterized by significant
limitations in both intellectual functioning and
adaptive behaviour as expressed in conceptual,
social, and practical adaptive skill, is known as-

(A) Articulation disorder
(B) Intellectual disability

AC) Cognitive impairment

General learning disability
(E) Hyperactivity




Choose the correct answer from the options
given below:

odt srmuedtar sy difge feRarereRar qan
I HAAER, AT foh I IqURUTHS,
e qAr WA & ed divie |
qRefera giar &, H Hgeauul UREH= <@ ATt
¢, HECAT 8

(A) Srfraafhatur-faeshr

(B) Sitfegan-arauear

(C) G -gaerar

(D) |THT=T 3TRRTH 3rawedar

(E) stfaferaryfrerar

Frer fau o faweut @ @ WE IW @ wEA
WHITAT:

(a) A, C and E only/&ad A, C 3R E

(b) B, C and D only/&aa B, C 3R D

(¢) A, Band C only/&ad@ A, B 3R C

(d) C,DandEonly/%ﬁC,DaﬁIE

The disability characterized by significant
limitations in both intellectual functioning and
adaptive behaviour as expressed in conceptual,
social, and practical adaptive skill, is known as-
(A) Articulation disorder

(B) Intellectual disability

(C) Cognitive impairment

(D) General learning disability

(E) Hyperactivity

Ans. (b :UHt srgmdar o difgs  frarasar an
HggR, 91 f 98 31auruneds, 9 a9
SEfiTE 3 S # uflafaa @ar 2 # Agcagof
g T ST @ difes sramddr, S geordn
9T 9= 31Ty srgnadar sEadr 2|
IS gdadl fadl aafer fase &t g wga, a8 o
drEd, &9 #Hf=d s T 2T Shaa &1 gwfaq &3
are favfa &9 & gtel snfe fpad st @ o gl
YIS geetar gl 8|
difgs 1gudgn:- v& f&dt =afe & g s 4 as &
drga a1 w1 9 difgs emar et 2 a1 39 Sifgs
3T Fed 2 |




What is the name for a test of statistical

significance, which is typically employed to
establish how confident we can be that thel( \ ’

findings displayed in the contingency table can
be generalized from a probability sample to a
population?

[iferaht "gea & g hi4-a1 gdterr § faaenr
favie wu o ag ywriiTa &= o fow g famar
wrar & o 7w famaan faeeht & wewa € &
amuTa |AReft W geie U fyewRet @t fadt wwm
(UTIAYT) o Wiiaekar feet @ fftha faar s
Hehal &7

(a) Cramer test/shl Ty

(b) Likert scale/fahe AMgA

(c) Pearson's r/f3ad 311

(d) Chi-square test/&3 gt qiemor




What is the name for a test of statistical
significance, which is typically employed to
establish how confident we can be that the
findings displayed in the contingency table can
be generalized from a probability sample to a
population?

Hiflearat Wee w1 9 diA-1 witerr g e
fergre w0 ¥ =g wwifTe @ & forw wa femam
W ¢ fr gw feaar frgeft @ v § 5
A S G s e G g1 e
(UTCt9T) & Wifdrehar faget @ fafida feem <
Tehell §7

(a) Cramer test/sHAL Tz

(b) Likert scale/fde AT

(c) Pearson's r/fUgdd 31X

(d) Chi-square test/HE AT qLeuT

Ans. (d) : F§ TaT Tl Us siEiis G faf
¢ 1 forae s Afid Ao Sheged e | 99 g4 Sfel
& foru fobe 9 21 39 1 g1 g |
A g 3gf # g 31 @ e o fe J Am @ o

T I 2

2 (fﬂ-ft:)
X* =
vk
f, = Saciied Mgfd
f, = 3ufer Mg
X} = T @am




What type of validity relates a measure to a
criterion on which cases (eg. people) are known

to differ and that is relevant to the concept in \7’/
question?

o 3 S e o @ e

q gt ¢ form o wwwen (arafa wm) i o

@ § o & il FAUTU & o0 aa

g ¢
(a) Concurrent/Swad

(b) Face /TR0

(¢) Internal/31f

(d) Predictive/fasarii &




What type of validity relates a measure to a
criterion on which cases (eg. people) are known
to differ and that is relevant to the concept in
question’

o yam @t e et Sur @t e @
8 et § o w A (st wm) fir T
T@d § 3N T YR @ & A w
g &:

(a) Concurrent/Swar

(b)

(d)

3ace/a'6'ﬂ

(c) Internal/ 3R

Dredictive/sfawardt g

Ans.

(3 - W v A o G 29 w0 3

qift Gt T v & & o § 21 T AN

4 3

7 3 U 9 8 Ted ¢ W A

(a7
et T

) ¥ fira 7 7@ § AR A T S &
3 21 T T R 4 frl A e @

T 3 36 T T T T A @ e 2l

20
_—




Given below are two statements

Statement I: The internet provides an
enormous and richly varied source of freely
available information that can be quickly and
easily accessed without the need for spending
time on its reliability and validity.

Statement II: Internet search engines are very
helpful for researching all sort of information
as these help in finding websites and evaluating
them.

In light of the above statements, choose the
most appropriate answer from the options
given below

e < s fau 7w §:
wAF-1 : FeHe fyes =T &1 UHr gEg
e, wo A fafguagel = &, 54

IUTH HAAT & 3ot |, Her fau o faemear
H | Gad IUGth 30T T AT I
(a) Both statement I and statement I are correct

&I [ 3 11 g1 T 21
\)glﬁ Both statement | and statement I
incorrect/®4F 1 3R 11 241 TTeid 21
(¢) Statement I 1s correct but statement II 1s
incorrect/®H4 1 T8l 2, foed = 11 Tetd 2|
(d) Statement [ 1s incorrect but statement Il 1s

Z\correct/®HdA | Tad 2, f Fa 119 21

&

are

u'n'vl‘%_mﬁmm
ferarar_feram, AT | ygeh feRa

T |ehdT gl
&HAaT-11 : wma&mﬁ%sﬁu%m

ECAC A i 5 F & aiteh o dadEe
g 3 3 ‘ugmmaa%r%n




Given below are two statements

Statement I: The internet provides an
enormous and richly varied source of freely
available information that can be quickly and
easily accessed without the need for spending
time on its reliability and validity.

Statement II: Internet search engines are very
helpful for researching all sort of information
as these help in finding websites and evaluating
them.

In light of the above statements, choose the
most appropriate answer from the options
given below

Hrer 2 e feu o §:

W-l:éﬁﬁ?ﬁ:ﬂﬁ@ﬂﬁ@ﬁﬁ?

qgT, yeX wu o fafguamgut w=a g, 59
fagaraar agr Auar & Tavdehdr U 9Hd

faamar fomm, vfgar @ar smarft @ ggw T
T |ehdT gl

FHAA-11 : Tft g et gaamed & iy & fog
et WY §99 9gd 9Eidd ¢ adifeh o dadge
g 3N 3 Uedich- | WETHdT &id 8|

IUTH HAAT & 3ot |, Her fau o faemear
H | Gad IUGth 30T T AT I
(a) Both statement I and statement I are correct

H9 1 37 11 4 T 2

(b) Both statement I and statement II are
incorrect/&YA 1 31T 11 21 TTeAd %I

(¢) Statement I 1s correct but statement II 1s
incorrect/&9 | Tal %, ﬁﬁ F9 11 Tod 2|

(d) Statement I 1s incorrect but statement I 1S
correct/HYA 1 7Ted 2, g &9 11 T8 21

V]

/

Ans. (b) : 32T fA: 36 a1 & THT g ag1 FgL &Y
q éraé,ﬁlﬁﬁwﬁwaméwﬁ
FEYIHA & W AARE T09 NS Sk IHdr 9 ST
T g foFan o gk 2|

gff YR & oA & WY & foau fee §d
SEeEd ¢ i ag fordt off Jawmge @ ged @ g
&1 faveiyur aer gedied & &1 fagad e 78 2

3d: HY [ a1 FIT [ AT 379 2




Match List I with List 11

List-1 List-11

A. Structured I. Embedded

interview

B. Email II. Enumeration of
an entire population

C. Census I11. Face-to-face

D. Probability sample | IV. Simple random
sample

-1 aht @=i-11 ¥ gafara ahiferg;

Choose the correct answer from the tions

gwen below:/=r fau 7o faesmear ¥ 9 I

(a) A-II, B-1V, C-1, D-II1

(b) A-I, B-III, C-1V, D-II
A-lII1,B-1,C-I11,D -1V

(d) A-IV,B-I11,C-IIl, D -I




Greeting a person with 'How do you do?'
before the actual conversation begins is called ?

AT ST I A ¥ g fadt |\
maﬁm:“m%&%’”ﬁwmﬁ
w0 ¢ —
Smart opener /ge7aftd FRFE] '»\Q '
\/ -ommumcatlon J— »

(c) Formal intro /ﬁWﬁ% UIIep
(d) Message prompter/lﬁﬂ aﬂﬁ%




Greeting a person with 'How do you do?;
before the actual conversation begins is called

qnAT® Aed I g @ Uget ol st
& vt W W R &
A &

(a) Smart opener /At St

(b) Phatic communication
Ao (o) T

(c) Formal intro /377t ot

(d) Message prompter/ﬂ%ﬂ aﬂﬁ?ﬁ?

Ans, (b) : TS w WfgE @ sfeE HeR 2
fot T wwfos @ Wik @ g, 9- am
A, ATEH (30 3 §), U <, fes F R
foh o v a1 g w T A ) 9 e
aIieNy § T al and & &9 4 o S S 2




Which of the following are true of the

communication process? [AVIEUT UishaT & A
T frifera & @ &9 1 872

A. It is purposeful/ag Wf @?IT ‘%l
B. Every communication is punctuated
uft Torwur ferrmfe-faum g+ 2 8
C. It involves choices
T fashey wftafera g §
D. Sent messages can be uncommunicated
Uit w=9r weifya feru = wahd £

E. Communication does not have the power

dimension/SEUT T ITfvhH-3TTH &l E{

Choose the correct answer from the options

given below et feu foaea o @
&l T I

(@) A.Band C only/#da A, B 31’!1)
(b) B, C and D only/@ad B, C %R D
(¢) C,Danc Eonymﬁ C.D 3N

o

f LL1J L4l

(d) A, Cand E only/&ad A, C 3




The general purposes of communication listed
by Rubin et al in sequence are:/®fe _Td 37

& U Ueliag AWE & WHRT SeyAl i >
TAHA & (\
@ 0 pIay/@FFlT 1

B. To relate/ddg AT
C. To influence/FHTErd SHTAT

D. To help/TETaT T
E. To learn/dt@n

Choose the correct answer from the options
given below

Hrer fou U fowew § ¥ W ST @ wEH
CIIELE

(a) A,C,E,D,B (b) B,C, A, D, E

(¢)

¢) C,E,D,B,A "C{) EB,D,CA




Given below are two statements, one is labelled
as Assertion A and the other is labelled as

Reason R/ g & @wew feu ww & uws
IRTHAT (Assertion A) & BY | 3T TEW Wk
hITUT (Reason R) CORUR:F

Assertion A: Effective communication creates
identity for individuals and groups.

ATHAT (A) : THTEt THEUT A+ T TUE &
U= &t ToET ST g

Reason R: Identity is situational and
communicators should understand this.

&R (R) : Uftoe, fearfa & 3FaR gar § 3iv
AW i 30 AHFAT iU

In lights of the above statements, choose the
correct answer from the option given below

SUATh HYUAT & 3Meltes W, Hrer fou faweat o
A WET ST T AT RITAT:

(a) B6th A and R are true and R 1s the correct
explanation of A/(A) 3R (R) &I ¥ € 3R
R), (A) # T e B!

(b) Both A and R are true but R i1s NOT the
correct explanatlon of A/(A) 3 (R) T T

¢ 7 (R), Eﬁruﬁmqﬁ%
(c) A s true butRis false

A) T ¢ T (R) 39 ¢
(d) A 1s false but R 1s true

A) 39 ¢ T (R) T 21

R)




Match List -1 with List-11

gelt-1 &t et -11 | Gafera iu:

Choose the correct answer from the options

given below:

List-1 List-11
Types of | Example
communication

A. Synchronous

I. Newspaper reading

B. Asynchronous

I1. Face-to-face

C. Participatory III. Head of the
organization to
employees

D. Authoritarian V. Boardroom
meeting

geii-1 q=-11
(Y F YEHT ) (3TETT )
A. ToAhT(cTeh/ I. FHTER-UF Tl
Agahllcleh
B. 3idcaehlieTa | 11 3THA-HTWA
/3T
C. FgaiTar [11. §TeT & yuE o

HUATRAT hi

D. STaret V. Uftug-ahal 99T

®

(a) A-1, B-III, C-II, D-1V
() A-IV, B-I, C-II, D-III
¢) A-II, B-I, C-IV_ D-III

(d) A-IIL, B-1V, C-1, D-II




What number should replace the question
mark(?)? 0,10,10,20,30,50?

form HEn & g0 Yoterg @t Wit fom

e ag? 0,10,10,20,30,302 / @
(a) 90 @

(c) 60 (d) 100




. What number should replace the question ;':;(:b::o

mark()? 001020300 o
mwﬁﬂmﬁmﬁﬁm f = 0 +10 = 10 (W% 3t & T & am)

TTRUNDINE ~ g0 |[7= 10410 20 (w82 ot a2

q b 80 (T = 10 + 20 2 30 (W 3 @ FEAET & 7m)
a: p by |1 B3al = 20 + 30 = 50 (Tt & & Fews F )
w qf = 30 + 50 = 80 (T & & e F1 Fm)




The difference of ages of a mother and
daughter is 21 and the product of their ages is
equal to 72. find the daughter's age?__

TF W wd i A g @G 210k s
mquum?z%lgsﬁaﬁmm@
\

,/ 07
@) 8




The difference of ages of a mother and
daughter 1s 21 and the product of their ages is
equal to 72, find the daughter's age?

TF WA T TR @AY & A 20
T T & T 72 §1 T @ g
=

)} ) 7
(0) 12 8

Ans, (a) : A, At 31 31 = x o
5, W & G = (x+21)

A X

(x(x+21)= 7)

C+20x="72 ‘l&
X+21x-72=0
X+ 2Ux-3x-T2=0 \/

X (x+24)- 3(x+24) 0
(x+24) (x-3)=0

>x+24=(

=5 X = -24 (319 T T )
>x-3=(

:sx=3(am:ga°fa§la¢re13aﬁ§|)




M is the brother of N, N is the daughter of O
and P is the father of M, then how is O related
to P?

M @ 91 N €, 0 & Ot N g 3 M o fir p
£ @ 0 & P ¥ T day 37

(a) Brother/sT (b) Sister/d&

(¢) Husband/dfd (d) Wife/geit




M is the brother of N; N is the daughter of 0
and P is the father of M, then how is O related

to P?

M N &, 0 h N § ol M & f

§a0@pRENTEY

) Brother T

b

IS

RIELG

(¢) Hushand 6 @Nﬁ D

Ans. (d) :

QH:OUFTT%P#I




When the middle term in some cases relates to

the major and in other cases relates to the
absence of the major, it is said to be the allay of 2}/

T g W 4 & vay e @ g an
T 70 WA § W & oW R A ag,w
HI-H1 FTUH 5l ¢/
Q@dharana Vyabhichara/STERUT ¥R
(b) Asadharana Vyabhichara/3THTERUT
(c) Anumpsanhari Vyabhichara/3THER! SAMER
(d) Viruddha/fe%g




When the middle term in some cases relates to
the major and in other cases relates to the
absence of the major, it is said to be the allay of

@ AT W § ¢ & Ha A u i
&0 0 WWE W WA & AW W g @, W
H-T1 G Fgd ¢/

(a) Sadharana Vyabhichara/STERUT AT

(b) Asadharana Vyabhichara/3FTeTuT FAfiaR

() Anumpsanhari Vyabhichara/ 3T ¥R
(d) Viruddha/f%3g

Ansdaﬁmmﬁ%@aﬁlwmﬂﬁaﬂ?
T TR WA WA T A, [ A
AR {9 R £ 3 & o vy e A
3 0 1 A 30 O R B ¢
Tl AT & AR 3 T 71 A T
) 0 o ) O 2 R e 9 4 4

SR a7 1 ¢




Name the fallacy committed in

"All chocolate eclairs are fattening foods
because all chocolate eclairs are rich desserts,
and some fattening foods are not rich desserts"

YTh BTy ST ATH ST

ot diwcle Teegd  Wier §eH  ar

qruerd § aife At wicheie Taceiad TRy

g firgrer & @ §

(a) Undistributed Middle/3/ATd &

(b) Tlicit Major/31de TTeA

(c) Affirmative Premises; Negative Conclusion
foeareres 3meTia; TS IR

Negative Premises; Affirmative Conclusion

THNHS e, [qears giom

Sy




Name the fallacy committed in Ans, (d) , WW m D qﬁ”ﬂq m %
"All chocolate eclairs are fattening foods
because all chocolate eclairs are rich desserts, m iE m é e ﬁﬁw BILILEIER @ NEA G
and some fattening foods are not rich desserts" '\
WITh geaTdT mr%m Grl g e ¢
it wieele Teedd Wew e are
firgrer &, 3 %@ WreTdr sgr dter Wred-uerd
g firgrar 7 2 £
(a) Undistributed Middle/37eare %@
(b) Tllicit Major/3/% H1eq
(c) Affirmative Premises; Negative Conclusion
faeard, ST, TR qRum

(d) Negative Premises; Affirmative Conclusion

TS FeaHr; faeae giom




The middle term is related to the major term
(Sadhya) is its cause and is antecedent to it. We

pass from the knowledge of the antecedent ~
cause to that of the consequent effect. It is @
known as .
%d, T ¥ 30 G o B W Wag § 3N
st gaue off 81 gw auft ydug enwr { W
3 UTRUNTHG THIT 7 Ugad &l 36 &g o
(a) Purvavat Anumana/‘ﬁaﬂ HHH
b) Se’lavat Anumana/¥15ad AR

(
( (c) Samanyatod! [ [ /Sl Q'E}
(d) Parartha Anumana/T09 HHH




The middle term is related to the major term
(Sadhya) is its cause and is antecedent to it, We
pass from the knowledge of the antecedent
cause to that of the consequent effect. It is
known as

£, T W 0 G o WU N GG § o
TWa yaug o §1 g9 Wt vdug @ J 9
30 TR YT 7 Tgad ¢l 3¢ ded ¢
(a) Purvavat Anumanaf{cf'cl?[ HfHI

(b) Se’lavat Anumanaf@ﬂﬁ?[

(c) Samanyatod " (| a/STHI=H 3B

(d) Parartha Anumina/ 704 A

Ansc@: 2 T8 § 306 a0 & &Y 8§ g o
coR R RIR R R
o 397 7 T & 8 o SO R 0 ¢
TR - T A G T AN T A 8
s g




In a classful IPv4 addressing, what are the
number of net ID bits and number of hostID
bits for the network Class A?

e TG [Pv4 TGRIT W 3eadh 7o A &
forw 2 1D forem @ wem aiv g 1D foew

@ UET g
(a) 16.1¢ (b) 12,12

O8) ¢ @M

\Y




In a classful 1Pv4 addressing, what are he Ans, (¢): IPVA 3 7 $2%52 Weraiet S 4 {K
number of net 1D bits and number of hostID Wﬁ“ T ¢ m felt. A 30T 1 29 ¥
bits for the network Class A? czcoie e I ie I AR ey e

WG [Pyd T ¥ e o A & W & 2 A W @ A TeE P
: b T ¢ 9 6 99.48 T T [PV4 TG # e

forw 2 1D forgm @t e o g 1) foem .

| \ |7 A S fow 2 1D foew & e § v Ew D
) e @ 1 24 31

(a) 16,16 (b) 12,12
(c) 8,24 (d) 248




URL isa /7, ¥, ¢

(@
(b

(©

A

Unique Resource Locator 20+ e ez
Jnique Remote Login/3f+ e e
Uniform Remote Login e foz

Uniform Resource Locator

mm\

21
/




(RLisa 3, 9MTF.£: (s 3 5 3 0 0 o o e
() Unique Resource Locator 3% R T e W fil A 1 0 A
. rres 7 0 8 0 & R a9 URL T @
(b) Unique Remote Login/%¥ Rz i P WY Nt
o) Uniform Remot Log/ 3w fWR A |20 = oo 4 e 4 2 o ot o

(d) Uniform Resource Locator m

afr e e




Which of the following are true’

A. Desktop computer is a general - purpose

\/wmputer made up of a separate monitor,
keyboard, mouse and processor unit/
SHCTT HIET T WO HWET § T
T 3o Wi, dare, WEw sl e
eI

\B‘/ Laptop is where monitor, keyboard,

pointing device, processor unit are
combined in a single device/ T THTA

feamgm W Wt wiier, @ae, wigen
feargm, g g 0@ W g

T

C. Tablet is a device with a touch screen:
which as a virtual keyboard which uses
ouch screen technology/2adie ZTH-TERIA

Zaaterst arenr fgargw &, et ues
TE3TA  wiElE AT & W0 eH-TEhiA
ZETATST THNT Hidar gl

D. Smart Watch is a device that USES CERT
technology so that the screen can bend

around the wrist/ T ar=A Taeh ﬁ\'ﬂT
fearzw & ST USES CERT 2aTATSIT 9T
AT & THEE & @i Sl o6 9t 37%
ferue w@aR)

E. Mainframe computer runs small
application where small data need to be

processed/ HATHT shite? B¢ UeTehyTa I
wd §, el Bl 22T Wl WHT &I

TATTHAT &l

Choose the correct answer from the options
given below:

Hrer fau 7o farear @ 9 W 39T &1 w9
aﬁﬁm;:

(a) AandBonly/%TclﬁA 3R B

(b) A, B and E only/&hadad A, B 3 E
A,BandConly/aﬁ'ET A, B 3R C

(d) A.B,CBndE/ A, B,C,D3RE




Given below are two statements/f=r 'q:f hdq

feg T #:
Statement I: GPS is used to determine the exact

location of a vehicle or other forms of
transport.

& | HeE &1 YA s anea @ it gm

Y % URaE @ W fafy @ fif w
ffﬁ:'mm%l\/

Statement II: GPS system are not safer since
the drivers have to consult maps.

& 11: Sfrdtew & gefa 7 ¢ e e
aa‘tunﬁrn&wwﬁ'—ﬁm%%

In light of the above statements, choose the
correct answer from the options given below

T F e, S T fawe

(a) Both statement I and Statement I are true
o 1 31 11 2 9 £

(b) Both Statement [ and Statement II are false
e | 3 11 3 3 2

(¢f Statement I 15 true but Statement I 1s false

" F | T 2, e 0 11 3 2

(d) Statement [ 1s false but Statement I1 1s true
il ama% ﬁ»ﬂamllumé|

M




Match List I with List Il

=it -1 =t =it -1 ¥ gafeaa s

List-1 List-11
A. Cache memory I. Integrated circuit
(DRAM) I
B. Main memory I1. Laser Disk &
C. Hard Disk 11l High speed
Integrated circuit
D.CD ROM IV. Magnetic surfaces
List-1 List-11
A. RIT AEET ¥  EdmeE wfdkhe
\_~| mram)
B. 7= wErt A\ I. = feae
C.are fes= 11, 82 iz s
afehe
D. €<t I\ NV, fafres ahas

Choose the correct answer from the options
given below:

=t . fasheal § O W 39T AU
a)/A-111, B-1, C-1V, D-II

(bY A-I, B-III, C-I1, D-1V

(c) A-IV, B-1, C-II, D-II

(d) A-IL, B-1V, C-III, D-I




Which of the following source (s) is/are
'nonpoint  source (s)' of groundwater
contamination?

frafafgs & & &9 ®@d 9-Fd-9gu0 &
-feig =i &7 /‘S\
A. Wastewater ponds/3TafT8 FeT dTeTa

B. Refuse piles/ahgT-ahiche ol T

C. Landfills/evg-fheq \/

D. Agricaltural Tand/u-9"

E. Buried storage tanks/TS §U WU &k

Choose the correct answer from the options

given below:/<t=r fau v faweut & @ wat 3w
T TG hiTT?

(a) A, D and E only/&@d@ A, D 3R E

(b) A,Cand D only/%Tde A, C 3 D

D only/%ﬂ D

(d) B, C and D only/&a@ B, C 3R D




Which of the following are nonstructural
measures in the context of Disaster Mitigation?

TSR & Tad ¥ FrAifeha # |/ &=
I FamT 3UT &7 2L
\A¢ Hazard mapping/SREW AT —

B. Raising of homes in flood-prone areas
a1g Wurfera & 0 W a
\_,( Insurance program/sitaT EIHHA

\})./ Relocating  equipment outside flood
plains/dT@ e Tl W T, SUHIUN chl

yfereerfid &

Choose the correct answer from the options
given below:/=rer feu U faswmeut o ¥ WEt 3w
CARCDERCIIELE
(a) B and C only/#d@ B 3R C
(b) B,Cand D only/%?:l'ﬂ B, C D

A,Cand D onlym?'l A, C 3N D
(d) Aand C onlyfaﬁﬁ A 3 C




The main environment concern associated with
geothermal energy is the release of

foan foedta wardia sot @ dag ww@

watarut far 87

(a) Carbon monoxide/ETEA-AIIRIEE @
(b) Methane/H9

(c) Carbon dioxide/aTd-3r5-3F0Re
d) Hydrogen sulﬁde/?ﬁ@'a'—l qehEs




Identify the correct sequence of countries in
increasing order of their present annual carbon
dioxide emissions.

TARTT ATk - STe- 3 dTEe IeqST
g U & IMMUW W I H WE @ @
LEHELE -

A. India/¥Rd B. China/ ==
C.USA/ 9UHT, D. Russia/ ®9
E. Japan/ STUTH

Choose the correct answer from the options
given below

Hror fou T fomwmedt & W W I @ WA

$E<D<A<C<B (b)) E<D<A<B<C

(c) DKE<A<C<B (d) D<E<A<B<C




Identify the correct sequence of countries in
increasing order of their present annual carbon
dioxide emissions.

FAAE A - STE-2TaTEe IcHe o
Fed W o IMUR UT Q9N &t Wl §@en @l
RERUELE

A. India/¥Td B. China/ ==
C.USA/ 9UaT. D. Russia/ ®9

E. Japan/ WU+

Choose the correct answer from the options
given below

Hrer fou o faeheat o W W I @ WA
T

a) E<D<A<C<B (b) E<D<A<B<C
)

(
(¢c) DKE<A<C<B (d) D<E<A<B<(C

e - faTge I (i)

11680.42
4535.30
2411.73
1674.33
1061.77




'Open learning’ denotes

A. Flexibility with respect to time and space

B. Learning in open space /7
C. Learning without any formal qualification :Sh
D. Flexibility with respect to evaluation

E. Learning free of cost

Choose the correct answer from the options

given below:

T Iftrmm fafde wvar €

K @ 38 T & wae # Fe
\AB. T T T e i
C. 3ireniies 3gar & fa=r st

D. UeAih oh Wael § Fwrar

E. T:3Tew a1t

Fror foar o faweat @ ¥ W SO & wIA

%nd B only/&ad A 311 B

(b) B, C and E only/&da B, C 31 E
(¢c) Aand D only/a'fd'a A 3R D
(d) Aand E only/aﬁa A 3R E
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